Kiosk Rudolph 3x2 m.

Assembly instruction

Important !
Wichtig !

| — Y —ah
L} i 9

%
1
|
n
|
1

T
1
I
]
]
.
|
.f

Important !
Wichtig !




Kiosk Rudolph 3x2 m.

Assembly instruction

1/10

4 x 50

10

/[

,,,,,,,,,,,,,,

se




Kiosk Rudolph 3x2 m.

Assembly instruction

5/1

+ 43 +

4b

+ 5

2/10

24

4,5 x 80

5/1

4a

14

4 x 60




Kiosk Rudolph 3x2 m.

Assembly instruction

+ | ba

+ | 6b

(o)

(o)

back

front

3/10

4 4,5 x 80
plate 40x80
16 3,5x40

6 4,5 x 80
2 | plate 40x80
16 3,5x40




Kiosk Rudolph 3x2 m.

Assembly instruction

+ 7

+ 9 2 4,5 x 80
+ | 17 6 | 40x40x40
36 3,5x25
+ 18 12 3,5x40
+ 24 16 4,5 x 80




Kiosk Rudolph 3x2 m.

5/10
10a

10

Assembly instruction

10a

3,5x50

3,5x40

90

24

10a

12

-+




Kiosk Rudolph 3x2 m.

Assembly instruction

6/10

+ | 13

32 3,5x40

23 right
+ 23 |with hinges 48 5x 35
NB! Installing: at first left, then right
NB! Opening: at first right, then left !!!

NB! Shutting: at first left, then right !!!




Kiosk Rudolph 3x2 m.

Assembly instruction

~—

>

step 2

7/10

25

bolt M19x120

washer M10

(0~ +

nut M10

e

joist hanger

>

DETAILS

+ 27 8 4,5 x 80

+ | joist hanger 16 3,5x40




Kiosk Rudolph 3x2 m.

Assembly instruction

! ! 8/10

DETAILS

joist hanger

40 degrees




Kiosk Rudolph 3x2 m.

Assembly instruction
9/10
B

22 21 22 21

21 + 22 8 4,5 x 80

+ latches 32 | 3,5x30




Kiosk Rudolph 3x2 m.

Assembly instruction

10/10

15 |final fixing

bolt M6x120

bolt M6x60

washer M6

LA ININ

nut M6

+ | 16 8 3,5x25

+ | 19 [(if it's needed) 12 | 3,5x30




